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typedef long long 11;
typedef vector<ll> llvl;

LL N, M;
llvl heights;
llvl difference_array;

void init() {
ios::sync_with_stdio(0);
cin.tie(NULL) ;cout.tie(NULL);

cin >> N >> M;

heights.resize(N + 1);
difference_array.resize(N + 2, 0);
for1(1, N + 1) {
~ cin >> heights[il;
}

}

void solve() {

init();

forl(o, M) {
Il a, b, diff;
cin >> a >> b >> diff;
difference_arrayl[al += diff;
difference_array[b + 1] —= diff;

}

Il crt = 0;

forl1(1, N + 1) {
crt += difference_arrayl[il;
heights[i] += crt;

}

forl(1, N + 1) {
~ cout << heights[i] << " ";

}




Thank You

J

nO

Algorithm Session

Koa

dev.shinkeonkim@gmail.com



